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QUESTION 1

How can you block or allow to Twitter using a firewall policy?

A. Configure the Destination field as Internet Service objects for Twitter.
B. Configure the Action field as Learn and select Twitter.

C. Configure the Service field as Internet Service objects for Twitter.

D. Configure the Source field as Internet Service objects for Twitter.

Correct Answer: A

QUESTION 2

Which of the following statements about virtual domains (VDOMSs) are true? (Choose two.)
A. The root VDOM is the management VDOM by default.

B. A FortiGate device has 64 VDOMs, created by default.

C. Each VDOM maintains its own system time.

D. Each VDOM maintains its own routing table.

Correct Answer: AD

QUESTION 3

Which is the correct description of a hash result as it relates to digital certificates?

A. A unique value used to verify the input data

B. An output value that is used to identify the person or device that authored the input data.
C. An obfuscation used to mask the input data.

D. An encrypted output value used to safe-guard the input data

Correct Answer: A

QUESTION 4

An administrator has configured central DNAT and virtual IPs. Which of the following can be selected in the firewall
policy Destination field?

A. AVIP group
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B. The mapped IP address object of the VIP object
C. A VIP object
D. An IP pool

Correct Answer: C

QUESTION 5

An administrator is investigating a report of users having intermittent issues with browsing the web. The administrator
ran diagnostics and received the output shown in the exhibit.
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Examine the diagnostic output shown exhibit. Which of the following options is the most likely cause of this issue?
A. NAT port exhaustion

B. High CPU usage

C. High memory usage

D. High session timeout value

Correct Answer: A
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